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M. Com. (Third Semester)
EXAMINATION, Dec.-Jan., 2020-21

Paper Second
ORGANISATIONAL BEHAVIOUR

Time : Three Hours ] [ Maximum Marks : 80
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Attempt all Sections as directed.
Yue—3 TAD 1
(Section—A)
RIS / qgfdbed Yo
(Objective/Multiple Choice Questions)
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Attempt all questions.
el IR BT IIA DI -

Choose the correct answer :
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Internal factor of perception is :
(@) Size
(b) Belief
(c) Intensity

(d) Motion
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Organisational development concept is of :
(@) Co-operation

(b) Employees Development

(c) Organisational Change

(d) Maximum Production
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The speed of change is :
@ Slow
(b) Veryslow
(c) Fast
(d) Allkinds
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Group Balance theory was propounded by :
(@) Keith David

(b) Theodore Newcomb

(c) Homans

(d) John Thibaut
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The consequence of application of ethical perspective in

management is :

(@) Increase in ethical standard of managers
(b) Increase in customer service

(c) Increase in employees efficiency

(d) Improve in quality of production
HIATET B JAFIROM T -
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Concept of communication is :

(@)
(b)
(©)
(d)

Concept of organisational stability
Concept of managerial process
Concept of continuous process

All of the above
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Role of communication in the function of management :
(@ inplanning
(b) in decision-making
(c) indirection

(d) in leadership
“GRaT TS H AR 817 I8 $F B

“Change is compulsory in organization”. This statement is
of :

@ Terry

(b) Allen

(c) Taylor

(d) Fayol
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[6]
Theories of learning are :
@ 2
(b) 4
(c) 5
d) 6
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Attitude can be changed :

(@) by fear

(b) by Education and Training
(c) by filling information gap

(d) All of the above
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According to Erickson stages of personality developed are :
@ 4
(b) 6
(c) 8
(d 10
“ArE VAT Py AURG wU H FgeR H A uRacd © Gl
M & URUTARERY BT & |7 I8 URWIT & &
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“Learning is any relatively permanent change in behaviour
occurs as result of experience.” The definition had been
given by :

(@) Robbins

(b) Sanford

(¢) Munn

(d) Hilgard
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Maslow was the resident of :
(@ Japan
(b) Germany
(c) America
(d) Russia
TRAHT 2eq foram 7T 2 -
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The word ‘Dynamics’ has been taken from :
(@) Greek language
(b) English language
(c) German language

(d) Japanese language
@) 6

(@)
(%)
(@)
The main styles of leadership are :
(a)
(b)
(c)

(d)
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@ ¥ IR T

Key elements of human behaviour are :
@ 6

(b) 5

© 4

(d) None of these
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The cause of torch bearing of a leader is :

(@) Authority
(b) Power
(c) Influence

(d) Fear
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“The greatest enemy of communication is illusion of it.”

This is whose opinion ?
(@) Keith Davis

(b) G.R.Terry

(c) W.H.White

(d) None of these
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Intra-scalar communication is a communication between

(@) Equivalent

(b) Different

(c) Both(a)and (b)
(d) None of these
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Management grid of leadership is developed by :

(a)
(b)
(©)
(d)

Tead
Bernard
Robert R. Blake and Jane S. Moutan
None of these
gug—7 TS 2
(Section—B)
i oy IR Y

(Very Short Answer Type Questions)
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Attempt any eight questions in maximum 30 words.

1. e fAerd & @IS <f fI9va gdrgy |

State any two characteristics of organisational development.

2 g B @ w fRa

State two functions of leadership.
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TS T Bl bl < dh-idl & A I3y |

Write the name of any two techniques of resolution of
conflict.

Jale H QR & foly FIg < goia SR |

Give any two suggestions for improving perception.

AHGRT BT 31 AR |

State the meaning of attitude.

areq Rafd & 77 oM & 7

What is meant by ego state ?

Ffkied BT TR BT W DI |

Explain the concept of personality.

T TITHDT TR Pl qRY |
Explain group dynamics concepts.

IRTT & UfeRY J o7 MY 2 P

What is meant by resistance to change ?
fRE =g @1 & ?
What is Autocratic leadership ?
Tug—d A 3
(Section—C)
Y IR Y
(Short Answer Type Questions)

e . bl a1 Ul & SR iead 75 Wl § SR |

1.

Attempt any eight questions in maximum 75 words.
T &1 T [TIRURT BT FHSASY |

Explain the trait theory of personality.
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e Rerfy @ g 2
What is Life position ?
AT UE0T FI FHEY |
Explain sensitivity training.
e URacH! o TH I Y |
Give a list of external changes.
IR T JawT TR R T91T TSl & 2
What is the impact of change on management ?
IATETNG FwarET R/ § ?
What is informal communication ?
A @ B8 A Ry foriag |
Explain any three characteristics of learning.
Fgh # uRade @1 b0 g fafdy @1 qoi ST |

Explain any one method of bringing change in the
attitude.

TTe fIprT & SEg 913V |

State the objectives of organisational development.

DRI IS I BN

What is meant by grapevine communication ?
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gre—3 TAE 5
(Section—D)
HERSSNER S
(Long Answer Type Questions)
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Attempt all the four guestions in maximum 150 words.

1. “d &% IR URdaH &1 Ry dad fRg & forv a=ad 217
fademT PIRTT |

“People sometimes resist change for the sake of resistance.”
Discuss.

eyt
(Or)
HICATHS AGER & AR U4 YA Pl G |

Explain the foundation and background of organisational
behaviour.

2. “fodfie Ag@ WA ye @1 UE ARG 3T £ 17 fadE
BT |

“Dynamic leadership is an integral part of effective

management.” Discuss.
T
(Or)
“FaR fgamil ufshan & 17w $Ifg |

“Communication is a two-way process.” Explain.
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What are the traditional and interactionist’ views of

conflict ? With which view do you agree ? Why ?
JIdr
(Or)

Jie @ fafi=t Rigral &1 =i i |

Discuss the various principles of learning.

R & A Rl @7 que HIR |
Explain the various determinants of personality.
3T
(Or)

TIENBRT bl URHTRT ST AT 3! Ufshar BT THNRY |

Define ‘Perception’. Explain its process.
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